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A?⃝
(A) See HW 1 # 8lb, d)

(B) See HW 2 # 11



② Lets show AUB is open .

We assume A- ≠ ¢ and 13-1-01 .

Then AUB =/ ∅ .

Let ZEAUB .

Then 2- C- A or ZEB .

ca Suppose 2- c- A .

Since It is open , 2-
is an interior pt

of A .

So , Ira >
0 where

D(Zira ) ≤ A .

Then
,
DCZ ; rat ≤

A ≤ AUB .

So, Z
is an

interior pt
of AUB .

cas Suppose
ZEB .

Since B is open , 2-
is an

interior pt of
B
.

So , Irb >
0 where

DLZI B) ≤ B .

Then
,
DCZ ; f. I ≤

B ≤ AUB .

So, Z
is an

interior pt
of AUB .

In either case 2- is an interior pt of
AUB .

So all of AUB 's
elements are interior points.

Hence AUB is open



⑦ Same proof as E- { o } in class with

or 0
,
or same as HW 3 #361 .

Let 2- c- ¢- { I } .

Let r= 12--11

consider ☐Him

<

We must
show

DCZ ,
- e) ≤S .

Let WED
(Zjrl .

Then , /W - Z /
< r

.

We must
show WES ,

that is w ≠
i.

Suppose
w=l .

Then 12--11=1
Z - w / < r

=/ Z - 1.1

So , 12--11<12--11
which can't

happen .

Thus , w≠l
and WES.

So , 1) (zjrl ≤ 5 .

So
,
-2 is an

interior pt of 5
.

So
,
S is open .


